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-: http://130.149.60.45/~farbmetrik/KE15/KE15LONA.TXT /.PS; sSRGB Lr=0..2,5% -_
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D), Page 1/1
rgb* and CIE data of a elementary hue circle according to CIE R1-47:2009 faRGBdisplay L,=0% rgb* and CIE data of a elementary hue circle according to CIE R1-47:2009 faRGBdisplay L,=1,2% ) -
C
16 step elementary hue circle with intended elementary hueB;p = 25.4, 92.3, 162.2, 271.7 16 step elementary hue circle with intended elementary hueB; o= 25.4, 92.3, 162.2, 271.7 g w
Code X Y z X y L* a* b* L*s a*a b*a C*apahapa rgb —>rgb* Code X Y z X y L* a* b* L*j a*j; b*a C*apahapa rgb—>rgb* g (_—5
r00j=R 374 19.1 6.5 0.592 0.303 50.9 78.1 37.1 50.9 78.1 37.1 8@34 1.000.000.0 ro0j=R  38.0 20.1 7.3 058 0.307 520 752 359 520 752 359 8234 1.000.000.0 ?_{@
r25j 372 203 19 0.625 0.341 522 719 652 522 719 652 9721 1.000.250.0 r25j 38.8 23.0 35 0593 0.351 55.0 64.5 584 550 64.5 584 8421 1.000.250.0 on
r50j 429 31.7 3.8 0546 0403 63.1 427 70.7 63.1 4277 70.7 83&8 1.000.500.0 r50j 440 335 53 0531 0404 645 39.6 657 645 39.6 657 7688 1.000.500.0 S =
r75j 495 447 6.0 0.493 0.446 72.7 19.7 76.7 727 19.7 76.7 7925 1.000.750.0 r75j 50.2 459 7.4 0.485 0.443 734 185 726 734 185 72.6 7306 1.000.750.0 a
j00g=J 58.8 63.3 9.1 0.447 0482 83.6 -3.4 842 836 -34 84.2 8933 1.001.000.0 j00g=J 59.1 63.6 10.3 0.444 0.478 83.7 -3.2 80.7 83.7 -3.2 80.7 80Z3 1.001.000.0 6"‘:.-'
259 59.9 78.1 119 0.399 0.521 90.8 -31.8 88.5 90.8 -31.8 88.5 92(®.7 0.751.00 0.0p 1259 60.7 786 13.1 0.398 0.515 91.0 -30.8 85.6 91.0 -30.8 85.6 910®.8 0.751.000.00 = QO
509 40.6 67.9 10.9 0.339 0.568 85.9 -63.0 82.7 85.9 -63.0 82.7 102702 0.50 1.00 0.0 509 417 685 122 0.34 0559 862 -60.7 79.8 86.2 -60.7 79.8 10082 0.501.000.00 S
J759 339 64.2 226 0.281 0.531 84.1 -76.6 54.1 84.1 -76.6 54.1 9B43.7 0.25 1.00 0.0p J759 34.6 64.6 234 0.282 0526 84.2 -75.0 53.0 84.2 -75.0 53.0 914%.7 0.25 1.00 0.0p < "
g00b=G 39.0 66.3 49.5 0.252 0.428 85.1 -64.2 20.5 85.1 -64.2 20.5 6762.2 0.00 1.00 0.0p go0b=G 39.7 66.6 50.2 0.253 0.425 85.3 -62.8 20.1 85.3 -62.8 20.1 6662.2 0.001.000.0p QO N L
g25b 46.9 70.3 88.0 0.228 0.342 87.1 -49.5 -84 87.1 -49.5 -84 5089.6 0.00 1.00 0.5 g25b 474 706 88.0 0.23 0342 87.3 -486 -8.2 87.3 -48.6 -8.2 498.5 0.001.0005p =O
g50b 40.4 55.1 92.7 0.214 0.292 79.1 -33.9 -25.6 79.1 -33.9 -25.6 4215.0 0.00 1.00 1.0 g50b 411 557 928 0.216 0.293 794 -33.3 -25.0 79.4 -33.3 -25.0 4216.9 0.001.001.00 @& =
g75b 33.2 409 89.9 0.202 0.249 70.1 -18.8 -39.1 70.1 -18.8 -39.1 4344.2 0.00 0.50 1.0p g75b 339 415 90.0 0.205 0.251 70.5 -18.3 -38.4 70.5 -18.3 -38.4 4248.4 0.000501.0p = O
b00r=B 26.5 27.4 87.7 0.187 0.193 59.3 1.7 -56.059.3 1.7 -56.0 5@71.7 0.00 0.00 1.0p boOr=B 27.3 28.3 87.8 0.19 0.197 60.1 1.6 -54.860.1 1.6 -54.8 52BL.7 0.000.001.0p QO O
b25r 179 10.2 84.8 0.158 0.09 38.3 525 -90.3 38.3 52.5 -90.3 18@0{1 0.50 0.00 1.0 b25r 186 10.9 84.9 0.162 0.095 39.4 51.4 -88.4 39.4 51.4 -88.4 18AB1 0.500.001.0p = W
b50r 525 252 84.6 0.323 0.155 57.3 94.2 -57.4 57.3 94.2 -57.4 13986 1.00 0.00 1.0p b50r 529 26.1 845 0.323 0.159 58.1 91.6 -55.9 58.1 91.6 -55.9 18286 1.00 0.00 1.0p ) o
b75r 40.9 20.5 249 0.473 0.238 525 823 -4.2 525 823 -4.2 83%7.0 1.000.000.50 b75r 415 215 259 0.466 0.242 535 79.6 -4.0 535 79.6 -4.0 7957.0 1.000.00050 5 ',_‘
o X
5 step equidistant grey scale with intended lightness* = 0.0, 23.8, 47.7, 71.5, 95.4 5 step equidistant grey scale with intended lightness* = 10.9, 32.0, 53.2, 74.3, 95.4 3 m
Code X Y z X y L* a* b* L*a a*a b*a C*apa hapa rgb—>rgb* Code X Y z X y L* a* b* L*j a*y b*p C*apahapa rgb —>rgb* o C'_\)'I
n00OOW=N 00 00 00 00 00 00 00 0000 00 00 00 0.0 0.000.000.0Q n0OOw=N 1.1 1.2 13 0.312 0.329 109 0.0 0.0109 00 00 0.0 0.0 0.000.000.0Q Q=
n025w 3.8 4.0 44 0312 0.329 238 0.0 0.0238 00 0.0 0.0 325.30.250.250.25 n025w 6.7 7.1 7.7 0312 0.329 321 0.0 0.0321 00 0.0 0.0 325.60.250.250.25 wAxN p
n050w 157 16.6 18.0 0.312 0.329 47.7 0.0 0.047.7 00 0.0 0.0 325.10.500.500.5Q n050w  20.1 21.1 23.0 0.312 0.329 53.1 0.0 0.0531 00 0.0 0.0 325.50.500.500.5(Q cm
n075w  40.7 42.8 46.6 0.312 0.329 714 0.0 0.071.4 00 0.0 0.0 325.10.750.750.75 n075w  44.8 47.1 51.3 0.312 0.329 742 0.0 0.0742 00 0.0 0.0 323.50.750.750.75 8 =
n100w=W 84.1 88.5 96.4 0.312 0.329 954 0.0 0.0954 00 0.0 00 0.0 1.001.001.0Q n100w=W 84.1 88.5 96.4 0.312 0.329 954 0.0 0.0954 00 0.0 00 0.0 1.001.001.0Q 3 g
KE150-3N, Page 4/11, LAB*la0, adapted=not adapted KE151-3N, Page 6/11, LAB*la2, adapted=not adapted D® O
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5>
O -
rgb* and CIE data of a elementary hue circle according to CIE R1-47:2009 f@RGBdisplay L,=0,6% rgb* and CIE data of a elementary hue circle according to CIE R1-47:2009 f@RGBdisplay L,=2,5% _5"‘ ;
=
16 step elementary hue circle with intended elementary hueB;y 5 = 25.4, 92.3, 162.2, 271.7 16 step elementary hue circle with intended elementary hueB;p 5= 25.4, 92.3, 162.2, 271.7 =1 —
~~
Code X Y z X y L* a* b* L*a a*a b*a C*apa hapa rgb —>rgb* Code X Y z X y L* a* b* L*j a*y b*p C*apahapa rgb—>rgb* 8 'U Y
r00j=R  37.7 19.6 6.9 0.586 0.305 51.4 76.6 36.5 51.4 76.6 36.5 82%4 1.000.00 0.00 ro0j=R  38.6 21.1 82 0.568 0.31 53.0 726 345 53.0 72.6 345 8@34 1.000.000.0 8 wn
125 38.1 218 27 0.607 0.347 53.8 67.7 61.3 53.8 67.7 61.3 9431 1.000.250.0 r25j 40.0 25.0 51 057 0357 57.1 595 539 57.1 595 539 8@31 1.000.250.0 =
r50j 435 326 4.6 0538 0404 63.8 411 68.0 63.8 411 68.0 79&8 1.000.500.0 r50j 449 349 6.7 0518 0403 65.7 37.3 617 65.7 37.3 61.7 7338 1.000.500.0
r75j 49.8 453 6.7 0.489 0444 731 191 746 731 19.1 746 7785 1.000.750.0 r75j 50.9 46.8 8.7 0.477 0439 74.0 17.7 69.0 74.0 17.7 69.0 7I®6 1.000.750.0 S
j00g=J 589 634 9.7 0446 048 836 -3.2 824 836 -3.2 824 8322 1.001.000.0 j00g=J 594 63.8 115 044 0473 838 -3.0 774 838 -3.0 77.4 7BA2 1.001.000.0 o
j259 60.3 784 125 0.398 0.518 90.9 -31.3 87.1 90.9 -31.3 87.1 920®.7 0.751.00 0.0p 259 614 79.0 143 0.396 051 91.2 -29.983.0 912 -29.9 83.0 881.8 0.751.000.00 =,
1509 411 68.2 115 0.34 0563 86.1 -61.8 81.2 86.1 -61.8 81.2 102712 0.50 1.00 0.0D 1509 42.7 69.0 134 0.341 0.551 86.5 -58.7 77.1 86.5 -58.7 77.1 9627.2 0.50 1.00 0.0D = —
j759 343 644 230 0.281 0529 84.1 -75.8 53.5 84.1 -75.8 53.5 924.7 0.251.00 0.0p j759 35.3 64.9 24.2 0.283 0521 844 -73551.9 844 -73551.9 9042.7 0.251.00 0.00 2 cC
g00b=G 39.4 66.4 49.8 0.252 0.426 85.2 -63.520.3 85.2 -63.520.3 6662.2 0.00 1.00 0.0p g00b=G 40.3 66.9 50.8 0.255 0.423 854 -61.5 19.7 854 -61.5 19.7 6262.1 0.00 1.00 0.0
g25b 47.1 70.5 87.9 0.229 0.342 87.2 -49.1 -8.2 87.2 -49.1 -8.2 49&9.5 0.00 1.00 0.50 g25b 47.9 70.8 88.1 0.231 0.342 87.4 -47.7 -8.0 87.4 -47.7 -8.0 4&8p.5 0.00 1.00 0.50 & w
g50b 40.7 55.3 92.7 0.215 0.293 79.2 -33.5 -25.3 79.2 -33.5 -25.3 4217.0 0.00 1.00 1.0p g50b 417 56.2 928 0218 0.294 79.7 -32.6 -24.6 79.7 -32.6 -24.6 421.0 0.001.001.0p (5 3
g75b 33.6 41.2 89.9 0.203 0.25 70.3 -18.6 -38.8 70.3 -18.6 —38.8 4342.3 0.00 0.50 1.0p g75b 34.7 423 90.1 0.207 0.253 71.1 -18.0 -37.5 71.1 -18.0 -37.5 4248.3 0.000.501.0p —+ )
boor=B 26.9 27.8 87.7 0.188 0.195 59.7 17 -554 59.7 1.7 -55.4 5371.7 0.000.00 1.0p boor=B 28.1 29.2 87.9 0193 0.2 609 16 -53560.9 16 -53.552BL.7 0.000.001.0p D
b25r 18.2 10.6 84.8 0.16 0.093 38.9 52.0 -89.4 38.9 52.0 -89.4 18601 0.50 0.00 1.0 b25r 19.3 115 850 0.166 0.1 405 50.3 -86.6 40.5 50.3 -86.6 16021 0.50 0.001.00 = @
b50r 52,7 25.7 84.6 0.323 0.157 57.7 929 -56.7 57.7 929 -56.7 18886 1.00 0.00 1.0p b50r 53.3 27.0 84.4 0.323 0.164 59.0 89.1 -54.4 59.0 89.1 -54.4 182816 1.000.001.0p W) =.
b75r 412 21.0 254 0.469 024 53.0 809 -41 53.0 80.9 -4.1 8B%7.0 1.000.000.50 b75r 421 225 27.0 0459 0.245 545 77.1 -4.0 545 771 -4.0 7357.0 1.000.000.50 Q
5 step equidistant grey scale with intended lightnes&* = 5.6, 28.1, 50.5, 72.9, 95.4 5 step equidistant grey scale with intended lightnes&* = 18.0, 37.3, 56.7, 76.0, 95.4 8
Code X Y z X y L* a* b* L*a a*a b*a C*apahapna rgb —>rgb* Code X Y z X y L* a* b* L*a a*p b*a C*apahapa rgb —>rgb* o
n00OOW=N 0.5 0.6 06 0.312 0329 56 00 0056 00 00 00 0.0 0.000.000.0Q n00OwW=N 2.3 25 27 0.312 0.329 180 0.0 0.0180 00 0.0 0.0 0.0 0.000.000.0Q D
n025w 52 55 6.0 0312 0329 281 00 0.0281 00 0.0 0.0 325.10.250.250.24 n025w 92 97 106 0.312 0.329 373 0.0 0.037.3 00 0.0 0.0 325.30.250.250.25 1
n050w  17.9 18.8 20.5 0.312 0.329 50.5 0.0 0.050.5 0.0 0.0 0.0 324.80.500.50 0.5(Q n050w 234 24.6 26.8 0.312 0.329 56.7 0.0 0.056.7 0.0 0.0 0.0 324.80.500.500. 5C 5
n075w 429 451 49.2 0.312 0.329 73.0 0.0 0.073.0 0.0 00 0.0 323.70.750.750.75 n075w 47.6 50.0 545 0.312 0.329 76.1 0.0 0.076.1 00 0.0 00 323.70.750.750.7
n100w=W 84.1 88.5 96.4 0.312 0.329 954 0.0 0.0954 00 0.0 00 0.0 1.001.001.0Q nl00w=W 84.1 88.5 96.4 0.312 0.329 954 0.0 0.0954 00 00 00 0.0 1.001.001. OC c

KE150-7N, Page 5/11, LAB*lal, adapted=not adapted KE151-7N, Page 7/11, LAB*Ia3, adapted=not adapted
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-: TUB-test chart KE15; CIE data of SRGB display0 to 2,5% input:w setgray
= 16 steps of elementary hue circle and 5 grey steps output: no change compared to i
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